Instruction Manual

POP-OUT VIDEO
WALL MOUNT

(

(]

M

v- ) fuoooooooooooo, - OO L/

il

)

70 n
MAX

300x300 400x300
400x400 600x400

VESA Compatible
200x200 300x200 400x200

AS1346T

P ~ P <
. N . N
7 N
=N \ \
T | \ \
s (@) (@)
= ’ /
o ’
N 7 N 7
S~ S~
PRk PRaiainkN
. N . N
/ N N
ﬁ 1 /\ /
(@) (@)
-4 /
\ /
N 7 N 7
S~ S
PraininkN PRaininkN
. N . N
/. N N
=N \ \
ol i _
s (@) (@)
= ’ /
[+ SN VR ’
N , N .
N N
PRk PRaiainkN
. N . N
/ N N
[l N \
w ! Aﬂv i ©
o Y A /
\ 7 \ 7/
N . N .
N___- N

PRaininkN PRaininkN
. N . N
/. A2 N
£ Vg \
\ \
s (@) (@)
[* 2N /N /
N , N .
U N
om= e~
. N . N
/ N7 N
ﬁ 1 /\ /
(@) (8) !
a 7\ /
\ 7 \ 7/
N ., N .
N___- ~___-

- N P <
. N . N
/. N N
= Vg \
5 | H _
s (@) (@)
> / /
x \ V2ERN /
N 7z N 7
Seo-” Sao--
om= e~
. N . N
/ N \
@ ()
L (@) ! (@) !
-4 7\ /
\ 7 N 4
N 7z N 7
S~ S

\

P PR

, N ~
/. /.
L \ i \
s (@) (@)
z 7\ /
N A 4
N 7 N 7

S~ S~

PETISN PErN

, N . N
Va \
£/ Vo \
(@), (&)
- 0 7\ /
\ 7/
N 7 N 7z

S~ S

- ~ - ~
, N . N
/. \
= vy \
I | \ \
o 1\&})  1\&) .
v / /
x o\ 4 4
N 7 N 7
S~ S~
PETISN PErN
, N . N
Va \
L/ Vi \
i1 (@),) ()
-4 7\ /
\ 4
N 7 N 7z
S~ S

%‘fl
SN

E

Note: Use the plastic locking
piece to measure and keep

displays.

N

\ @ lmm gap between
3

N
\
/N

Com e S| BRI =

%]
2
3
2
k]
(V]
s
B
2
ke)
2
=
8
173
£
§
2

by the numerical order given.

S, S,

Kickstands provide tilt access for easy cable management and maintenance.

1

Use a padlock to
prevent the display
from being stolen

(The padlock is
not included).
8V

~
N
.

>
-

T

RIGHT




@m@m@m@m

0 o)

G (x8)

M-D (x4)

M-C (x4)
M6x30

M6x14

A

M-B (x4)

M-A (x4)
M5x14

M-H (x8)
B15xD8x15

B15xD8X5

M

M-F (x4)
D5-D8

E (x4)
M8x50

M-

‘hnqm\
4

)

W-C (x6)
D6

W-B (x6)
@10x45

W-A (x6)
ST6.3x55

A (x1)

5 1 g
Hﬁ 2 ! @ g
" o H
o 2 m A
<3 1 m |
4 " | | -
\ X X " 0o 0 )
1 1 M
A\
® Eﬁo ! ! 00
g&\ (] QH-DW IU$ HE m %ﬂ m
4 1 1
Q‘ 1 1
(91T m omp)@) m
i S > |
1 1
i m m
i i
’ ! R
1
1
0 0 m “ o s
° ° ! ! 0 = =
o= 0// “ D e\@ ““““ 0450
0L e °Le N ! ! v -
DB = b/ ! “ i: . 0
w @ (M~ ] ,,,. ! “ W o
3 : ! . “ “ 0f)
o [ @ “ 1
o 1 1
(0] ! “
% o o m |
g 1 1
v 1 1
2 i i
e i i
2 400mm “ “
i i
1 1
0 | |
Ty “ N
1
1
ki e (CTTTTTeTTTTTTT T N
o 3 ; —— o ]
N\NCARS: 33 - . B! [yt
K @ g g 8
$f8 - T 2L 535 2 | o) 000D
5% | : _ / - g s ) 8 DD |
P _ ! ! J g °% 8 | oo
s £ I I P -
MJ 2 1 | I / \ \ m. .m. s %—W o Tpeo 95@8 X ! m
33 _ _ _ % b h 9 3 ® o= i 1
o | 1 » | { g \& J _|__ u__." @ _ _
l’@ X > |-—=- _ —_ ;o / X > w Y ! m
I ! <« 1
O : i g = ! m
_ 1
I « m ..... x hed 1IN & |— / \\L... o |
I i 0 |
| H 1
I . o i
[ 8 |
> | e e | BT W OB S | ) BN _
\\\Illl// v “
O [ === ,/ m-wm m
\ 4 ! ”L-.LO 1
1 | n = I
! | R | - T -t 7 E I T R _
\ \ e T i ¢ I T R I/ /S S |
\ £ 8  —
//I O‘Dlh | ;»
TN 3 “ .
[ ] ’.yn,u. . 1
“ _.IQEQ m m
I “
— | | | “ N o
x| | : “ R g
R x
) _ _ | m <= m
! " " AN= M
_ T
_ _ _ 3 2 i @ &
_ _ _ '@ W
1 I ! @ :
Yoo o ! .
| 5
> 5
D
= N )y xx J




